==
A = Ol &b At Ml A
20224 204 LB SHEES
SN BASSD
F: NSRS (B/BIEEYU)
ool @sae (Etol: M)
x HEAS =
-‘?—H * I‘IL-" [:l"r'{(_‘llﬁl) * k" A|‘g ‘.5/5'% 01|An_|'(l|H 01|,\|.o|.| HleLs?:n"
S22 34,366,298 28,274,996 6,091,302
= 8,113,049
| 133,581
= 3,777,860
Al 22,341,808
AASASH (B /2EE 528 578,027 421,666 156,361
= 105,000
| 6,000
< 61,320
Al 405,707
&l 2tel 98,567 38,866 59,701
| 6,000
= 1,800
Al 0,767
TEETAITY 84,767 10,346 74,421
101 QI244| 4,397 4,186 211
04 JIZtHI2Z2 RS E= 4,397 4,186 211
OSMFA L MEZR 22| U2
73,2803 * 4Z » 5 x 3HA 4,397
201 Let2Z | 3,160 3,160 0
01 At22teld] 3,160 3,160 0
O8N =%3z3 g9 4+
70,000& » 79 = 23| 980
O0HdICI21 29 233 3|9 4
70,000& » 12% * 23| 1,680
OsAdEa el @LAHPe 2
100,000& * 58 500
206 =l 1,350 0 1,350
01 M=zl 1,350 0 1,350
QMEIZE 22l 238 & ZHE 2 1,350
—&=H L A7 15,0002 * 5004 750
—=gHlz 10,0003 * 60X 600
207 AOHEH| 73,860 0 73,860
01 AEKH| 73,860 0 73,860
OZTAl CAIMEHSSRE Ba L LHRAIAE
25 9(01=22l) 3,860,000& * 14! 73,860
401 AIEBHIZL 2L 2,000 3,000 A1,000
01 Al&HI 2,000 3,000 21,000
OOMEE 254 RAES(0IKS, &2H)
2,000,000& * 14 2,000
Tl AL 1,800 16,520 A14,720
307 BI2H0| A 1,800 5,800 24,000
02 BIZHAAAIHE X 1,800 5,800 A4,000




BN B3RS
M. [ASHSE(BHE /A S ULt
S e (&2 AR
x = o bSlEl=
2A -3 A2(ZH) - MIRAR - BES 0| AkoH OTIEWH Hns2
ONEl0| BHELei22)| L SHOSI|H3]
(BXE 80%) 2,250,000 = 1Al = 80/100 1,800
(Z2)JBAEIEAN SEAIY X 12,000 12,000 0
J| 6,000
[= 1,800
Al 4,200
307 IZH0| A 12,000 12,000 0
p) 6,000
[ 1,800
Al 4,200
02 DIZIHANAII B X 12,000 12,000 0
OBAZEIME AMSE AIZXI
12,000,000 * 1Al 12,000
p 6,000
[= 1,800
Al 4,200
OMMEAIZE B35 479,460 382,800 96,660
= 105,000
[= 59,520
Al 314,940
OMMSAIZE 2 76,060 184,300 108,240
201 LEH2 A 15,460 13,800 1,660
01 At22t2IH 4,900 3,600 1,300
OfRolotsSE L2 =0l Al HIZ
1,000& * 2,0000H 2,000
OOtMESE UYCs BRI XIS & otMEE 2
100,0002! * 5& 500
OOMSAIZ HM2l(ASF, JtAlEH S) RH| YXt2
600,000 * 4L 2,400
02 2229 10,560 10,200 360
OSGEHMES TlaHYXICt 882
320,000 * 30Y 9,600
OOME2ESHIE &R
80,0009 * 1A * 128 960
206 24l 1,000 7,500 28,500
01 MZH] 1,000 7,500 28,500
OOFMESS Ta 2 g9t 2 25 72 1,000
—ols2 HY S 1,500 * 10004 150
— M5 5,0002 * 50% 250
— 2SN 12,0002 * 5004 600
307 120l A 5,600 5,600 0
02 DIZIHAAII B X 5,600 5,600 0
OOMMES DX Es KAAL(EEZE 80%)
7,000,000 * 141 % 80/100 5,600
402 QIERIE0| ™ 54,000 56,400 A2,400




SN BEES
Hu: NS (BY/BP2SUL)
ool OHMSAIZ 25 (Sr9): @)
. _ - PSEL =
SA - H - C9l(3) - HIRAR - BaS Of e e HI DS
EEENEEES PG ED 54,000 56,400 22,400
ORHOMSS TIHHLAIL &3 NR(2XS
60%) 3,000,000 * 30744 * 60/100 54,000
()OS0 AL 210,000 12,000 98,000
2 105,000
= 31,500
Al 73,500
402 DIEXFROI & 210,000 112,000 98,000
2 105,000
= 31,500
Al 73,500
02 BIRIRI= A 2 (01T ) 210,000 12,000 98,000
OOMYSSHUILAY 210,000,008 * 14! 210,000
2 105,000
= 31,500
Al 73,500
(S)OHSAS2S 198,400 51,500 141,900
= 28,020
Al 165,380
101 Q1218 20,000 20,000 0
= 6,000
Al 14,000
TRV = =R 20,000 20,000 0
OOHEMSBSAAIR A
10,000,000 * 2% 20,000
= 6,000
Al 14,000
201 BI2Y] 48,900 7,000 41,900
= 14,670
Al 34,230
01 AFR 2] 40,500 500 40,000
OOES TX2E 7Y 500,000 * 14! 500
= 150
Al 350
ORHOHSSSTEAKIH eI
40,000,000 * 14! 40,000
= 12,000
Al 28,000
02 B2 8,400 6,500 1,900
ORHOHMSSTRARIAAL 2
6,500,000 * 14! 6,500
= 1,960
Al 4,550
OSHOISST4+2E 2
1,900,000 * 14! 1,900
= 570
Al 1,330




M S3ESH
M NAHSABH(EF/E3E st
CHol: OIMSAIS 25 (242 &)
x s . AT
S - FE . CRI(EH) - MISARY - BAS il ko S nion HlmE2
206 M=z 4| 500 500 0
= 150
Al 350
01 M=ZHl 500 500 0
O0rs= 90| 500,000& * 14! 500
< 150
Al 350
301 LEIBES 114,000 14,000 100,000
& 4,200
Al 109,800
12 JIEtE423 114,000 14,000 100,000
ORNOiSESEE 2 A=
50,0002  2,2800t2| 114,000
L= 4,200
Al 109,800
302 O|==LMHoH 2 &= 10,000 10,000 0
& 3,000
Al 7,000
02 QIZIOITHH Y =R EsE4A = 10,000 10,000 0
Os=llsH=2243
100,000& = 100A 10,000
= 3,000
Al 7,000
tholegze|(8:-8/001) 11,826,292 7,821,088 4,005,204
= 6,592,100
Il 127,581
= 1,718,191
Al 3,388,420
CHol stExd 11,803,828 7,794,924 4,008,904
= 6,592,100
Il 127,581
= 1,718,191
Al 3,365,956
olegzgatel 144,874 138,224 6,650
201 B2 144,624 137,974 6,650
01 At2teld] 32,280 28,150 4,130
OXNSIHSItA H=2@ IS 1,250
—== 100,000& = 5& 500
—ot= 50,000& » 5H 250
—QtM S} 100,000& » 5% 500
OEXE & OIMSX M 2 B2 KRS
XI= 50,0003 * 20004 = 33 3,000
O, +=&2S QIEFE 4B 72 1,350
—oF AT ZEE 1Y 30,0002 * 30K 900
—HHESA AZSIHF I 2
3,000& = 15094 450




SN 2SS
A (fo|ege|(sHE/0ol)
Sl D] 3 (S H )
S - B BRI (B1) - HISARY - BlAS Ofl Ak a8z TmE=l
= - S o= 0:"&.0” US55
OXI|HX Ba=Z ME =22
10,000& * 1,000CH 10,000
OUIKMIZIXI ChEl Atz 28
15,000,000& = 1CH 15,000
O3et28 otXM UL |RAS 2ted EaCf
70,000& * 12¥ * 23] 1,680
02 23244| 112,344 109,824 2,520
OUIIANZRHF XF2H96E3695, =858 AR)
Sl 1,380& * 1504 = 12& 2,484
OUIIANZ RS XIEH96E36%5, EEHSE) £=2l S
500,000& * 1CH 500
OASEAD| |XlZell 200
—HECZA =2 100,000& * 1CH 100
—=2| & A2 EH| 100,000& * 15 100
OO0INIHX ZI1E=ED|(loT) 2E23
2,300,000& = 12& 27,600
ORHIY XEEEE EHEEPCR=2
20,000& ~ 122 240
O0INIHX] oralz2E SXIHI 170,000& * 12& 2,040
OUINIEX dME&SS RXIHI
35,000 * 6O = 128 2,520
OIS XNSEEHY AIEEHl *X4| 63,560
— A& &Y S X2e 23,500,000& * 24 47,000
—88a 35,000& = 24! = 12& 840
—SNe2 230,000& = 24! « 12& 5,520
—&MI|Iea2 200,000& = 24! « 12& 4,800
—HEHAI =2 675,000& * 84 5,400
ORIt HHAIAE(OINS)) 292 13,200
—ShR2 250,000 = 401 = 12& 12,000
—-&IIea3 25,0002 = 401 « 128 1,200
301 LEENZ 250 250 0
12 J|Et2 A2 250 250 0
OtFAEA TIAZ 50,000& = 5A 250
(Z)EAZQIER JIDIIF CIMEIE X2 23,690 32,000 A8,310
J| 11,850
== 3,550
Al 8,290
301 LEt8XZ 23,690 32,000 A8,310
J| 11,850
& 3,550
Al 8,290
12 J|EtE2 A2 23,690 32,000 A8,310
OEHAIOIER 29 23,690,000& * 14 23,690
J| 11,850
= 3,550




Al
7(‘|J_:H:
e

o
0
B
0

SR1(ZAH) - MR

A - BEZ

rx
12

bSIE]=

L

0l &b

HwsS2

8,290

m4

)ZdIOIE MelXIg

= HnH

1,159,800

579,900
173,970
405,930

849,500

310,300

402 RIZHA=01H

= N H

e

,159,800

579,900
173,970
405,930

1,159,800

AR I

EEREE

O=d0IE MelX&

1,159,800,000& * 14!

=Z N

—_

,159,800

, 159,800
579,900
173,970
405,930

—

1,159,800

(2)sie

o M=o

(|

in

50,540

45,486
2,527
2,527

48,000

2,540

=z HnY

50,540

45,486
2,527
2,527

48,000

2,540

01 Al 2EE+0ll=
O BN I=1GINI=)
%

E el

24,000,000& * 19H

18,540,000 = 1&

4,000,000& = 2%

= HmnY = Hmn¥

H

Al

50,540
50,540
24,000
21,600
1,200
1,200
18,540
16,686
927
927
8,000
7,200
400
400

48,000

2,540

W
i
12
jO

AHHHEMZ AL

(Z=DIHIXY)

= H W

2,504,000

1,502,400
300,480
701,120

944,000

1,560,000

=Ny

2,504,000

1,502,400
300,480
701,120

944,000

1,560,000

=
OS2 LIRS N A

(Z=DIHEIXt)
1,600,000& * 1,565CH

H

2,504,000

2,504,000
1,502,400

944,000

1,560,000




SN

X‘IJ_:H: EHjl
oel: O B84 (G2 &)
) bSIE = -
2A - 3 HR(SH) - NISAY - BES O AkH 'O]Eou Hws2
[ 300,480
Al 701,120
(2) =S 1ESISTISLPCR EXIZ AL 280,000 400,000 A120,000
== 140,000
[ 42,000
Al 98,000
402 DIZERHR0|H 280,000 400,000 A120,000
= 140,000
[ 42,000
Al 98,000
02 DIZFRHE AL B X (01 E ) 280,000 400,000 A120,000
OL-Z1E512 X2 LPGRI ALY
4,000,0002! * 70CH 280,000
= 140,000
[ 42,000
Al 98,000
(2)HIINEX ORI 5,968,000 4,120,000 1,848,000
= 3,552,000
[ 969,200
Al 1,446,800
402 QI2FXH20| 5,968,000 4,120,000 1,848,000
= 3,552,000
[ 969,200
Al 1,446,800
02 DIZERHEAI S X (01T S) 5,968,000 4,120,000 1,848,000
OISt 708 K&
5,968,000,0002 * 14l 5,968,000
= 3,552,000
[ 969,200
Al 1,446,800
(2)FD|0I8X B2AM 66,600 45,000 21,600
= 33,300
[ 9,990
Al 23,310
402 QIZFRHR0| 66,600 45,000 21,600
= 33,300
[ 9,990
Al 23,310
02 BIZIXH=2 AL B (01X TN ) 66,600 45,000 21,600
OFII0IZXH 200 X 66,600,0002 * 1Al 66,600
= 33,300
[ 9,990
Al 23,310
()X |(DPF) 22t 760,000 266,000 494,000
= 380,000
[ 114,000
Al 266,000
402 DIZFRHE0|H 760,000 266,000 494,000




SN 8
7(‘|J_:H:

o
el o

0
o
o
[0

SIEl
e HIDS

0¥

A - B SRA(3H) - HRAY - BES Ol

rx
12

380,000
114,000
266,000

= M H

02 QIEXEAIS E (01X TH) 760,000 266,000 494,000

OMZEXI(OPF) 2= 3,800,000& = 200CH 760,000
380,000
114,000
266,000

= M H

()AL AR WX 297,000 297,000 0
178,200
35,640
83,160

= HH

402 BRI IH=0I1A 297,000 297,000 0
178,200
35,640
83,160

= HH

(OIETHR) 297,000 297,000 0

ES

WA XA 16,500,000 = 18CH 297,000
178,200
35,640
83,160

)
o
e
2
>
!
_>,'_
I‘ﬁ HI

= HH

(VL2 HAILE SRIAE X 216,000 0 216,000

120,000
28,800
67,200

= N H

402 RIFIH=0I1H 216,000 0 216,000

120,000
28,800
67,200

= HnH

03 2IZt?(EFAFHI 216,000 0 216,000
OA72 SHAISE XML XX
216,000,000& * 14 216,000

120,000

28,800
67,200

= M H

(DDASK SHAHOIEH 2Y 495 1,000 2505

J| 245
75
175

= H

301 LeEHS 495 1,000 505

245
75
175

=N

243 495 1,000 2505
OXNSIHEAELIENZSA 495,000& * 14 495
245

75
175

=Ny




SA:
K| ZH -
[ I

ol

m
0
o
10

rx
12

N

L

Ofl &K

HIWE

0¥

= H

72,000
43,200

8,640
20,160

214,200

A142,200

402 RIHIH=0IA

= N H

72,000
43,200

8,640
20,160

214,200

142,200

OIEs M=sA2de] WAl X2
72,000,0008 * 14l

= N H

72,000

72,000
43,200

8,640
20,160

214,200

A142,200

= N H

105,000

52,500
15,750
36,750

105,000

= HH

105,000

52,500
15,750
36,750

105,000

02 QIZHAHEAIE 2R (01X THA)

| SR LPGRH &8 X
105,000,000& * 14!

O
2
v
o

Z N

105,000

105,000
52,500
15,750
36,750

105,000

(2)0IMIHX SHUHS oIZ-2HAl ArS

= H

21,000

10,500
3,150
7,350

30,000

A9,000

101 21244

= HmnH

21,000

10,500
3,150
7,350

30,000

29,000

04 JI2tMI22 Xt

ODINSH XIS HEHE 0 S 2Al 2124
10,500,000& * 2¥

HA
4T

= HH

21,000

21,000
10,500
3,150
7,350

30,000

29,000

=

30,000

9,000
21,000

30,000

30,000

9,000
21,000

30,000




A BEESH
I gplege|(&Z/U0)
S Ol B EA (291: @)
= =zH . C}O|( S S A HAS AHOH HEE HIm=2+
01 Al&HI 30,000 30,000 0
OOIMZEX &S &XI 10,000,000& * 3oHA 30,000
& 9,000
Al 21,000
(2 2HSIUHSHE B X2 100,000 0 100,000
| 70,000
Al 30,000
207 AN 100,000 0 100,000
| 70,000
Al 30,000
01 ARESH| 100,000 0 100,000
OJI=8siE HEl =8
100,000,000& * 14! 100,000
| 70,000
Al 30,000
(D)L ARGHMAISHLRAIE 2GR 4,629 0 4,629
& 1,389
Al 3,240
402 QIZtRHE0| A 4,629 0 4,629
= 1,389
Al 3,240
03 It ELAILI 4,629 0 4,629
OLTEZMAISE SXALE O 2F XA
4,629,000 * 14 4,629
& 1,389
Al 3,240
(2)BSIIHE B Es7 A2 200 0 200
= 100
= 30
Al 70
402 QIZtRHE0|1A 200 0 200
= 100
< 30
Al 70
02 QIZEAEAIEE R (01X ) 200 0 200
OSHASARZIAA YR LSS X 22
200,000& * 14 200
= 100
< 30
Al 70
SREp P = 22,464 26,164 A3,700
BN REZ 2uE > 22,464 26,164 A3,700
201 Let2ZH| 22,464 26,164 A3,700
01 At22teld| 1,200 1,900 AT00
OBAWLRLD B2 40 2 Y2 T
60,0003 * 5044 * 43] 1,200




A BEESH
M PD|E&el(2F/THD1)
SR E PR (el &)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
(=2 - S/ == 0:"&.0_‘” WsSa
02 E524| 21,264 24,264 23,000
OLRXA QM & SESY 23 19,800
&2 4502 = 10,0004 *» 23l 9,000
—=== 4502 = 12,0004 * 23l 10,800
OBZMLRED AT 48
80& * 15,0004 1,200
Ot Z2 XIZE0I (KHSOIMl S41)
=2 22,000& 123 264
HOISZE(&E/HII2) 12,962,812 12,024,438 938,374
= 112,949
= 101,379
Al 12,748,484
HOIZ2D1BAIE el 65,984 45,392 20,592
HETHCIE2E 65,144 44,552 20,592
201 L2 | 46,144 38,412 7,732
01 At22teld] 36,352 27,620 8,732
O3JIHEE 22l 21,992
—&EAHIAL B2l 1,000,008 * 1HA 1,000
—EE4 A% STAN
550,000& * 104 * 42| 2,200
— XISt ZAHE 330,000 * 4XI& * 4=D| 5,280
— M=Kl =Z2ZA
88,0003 » 104 * 42| 352
— M EYQUET A}
1,100,000& * 1JHA * 4XI& 4,400
— e DHE DA ZAL
440,000& * 104 = 4X|& 1,760
—OHEE EOIZAt 7,000,000& * 10HA 7,000
OSA, 0INIS, &4 N 22I(HI9I4) 13,860
—EEa A4 LHAN
550,000& * 3IHA * 13 1,650
—XIGt: A 330,000 * 54 + 18] 1,650
— M EYQUE A
1,100,000& * 304 » 2XI& 6,600
— A DHE DA ZAL
440,000& * 34 = 3KIE 3,960
CHDOIZ2 E&4AM =2 50,0002 * 10042 500
02 Z523H| 9,792 10,792 A1,000
OAME B2 LDIEE I3 7,320
—OtXE, 371 300,000 * 2IHA + 12& 7,200
—24 10,000& * 1JHA * 123 120
OAESHMIB(OIXS) &4+-E23
30,000& * 12& 360
OO0HNIs EErHald YHAIAE SldAIERZ
176,000& = 12& 2,112




A BEESH
M HOISLH(SE/HOI2)
Ch2l: HDISIIBAIE 2tel (&2 A&)
= X EH . CIO| (S SAS . HAS AFOH AT HIm=2+
207 AOHEH| 19,000 0 19,000
01 AEH| 19,000 0 19,000
OAMEEZ MdD| IHEE FHEEFE TAES
19,000,000& * 14! 19,000
OHE &= HUIAY 840 840 0
201 LBEH=23H| 840 840 0
01 At2t2ldl 840 840 0
OJlzSEMoHRs B 4o
70,0003 * 6% * 23| 840
M1 XHel 12,802,002 11,954,974 847,028
= 112,949
< 101,379
Al 12,587,674
MHEEESE A 748,200 723,200 25,000
201 LBr23H| 59,200 59,200 0
01 AtR2telt| 59,200 59,200 0
OXAEeYd I8 4 NeESE 29 HE
60,000 * 5004 3,000
Ogs|88 MY 222 NE
100& * 10,0000H 1,000
ONzsE 22tzs =22 &
100& = 100,0000H 10,000
ONEssE Wiy 2928 7Y
2,000& = 15,0004 30,000
Oooll& MAD| tHE=23t ZHe s
3,800,000& * 13| 3,800
OMZMI| DA 2 DI RN
2,000& = 5,000% 10,000
OSH=s 3308t |/ =Y
70,000& » 10¥ = 23| 1,400
206 =4l 75,000 50,000 25,000
01 M=l 75,000 50,000 25,000
ONE=s3 Zel=Hg 78 &X
250,000& = 30074 75,000
303 L&tz 3,000 3,000 0
01 Z&=2 3,000 3,000 0
OSH= SZ3JHIEIL AlAS 3,000
—X[R 1,000,000& » 2JH2A 2,000
—&d 500,000 * 2J0A 1,000
307 SI2H0| A 20,000 20,000 0
02 BIMABAAHE S 20,000 20,000 0
OAISINIAI 2Ot oiEM D] na 249
20,000,000 » 14l 20,000




2M: sAEs
M HOIST(EA/HDIS)
ERlr MED| Hel (&2 AR
- _ _ bSIE =
2A -3 A2(ZH) - MIRAR - BES 04| Ao 0“1“;0” Hns2
308 AHXISHHSOIA 531,000 531,000 0
12 JIEIRE 2 531,000 531,000 0
@) (Bl iat= = 158 * 35,400,000kg 531,000
401 A& HIZ 200 60,000 60,000 0
01 Al&H] 60,000 60,000 0
OSHE SATHITIL ArALIH] 60,000
—XR4 20,000,000 * 204 40,000
g 10,000,000 * 204 20,000
MEDISHED | B 75,920 169,866 193,946
201 LBt HH| 22,720 23,200 480
01 At22telH| 20,200 21,400 A1,200
OMYDISHEIIZE 282 M=
502 = 30,0000H * 23 3,000
OMHDISHEII2E DT HIE
100,000 * 100702 10,000
OMYDISHEIIZE S0 Y=
60,0004 * 1000H 6,000
OMYD|ISHED| S8 X2 1ol
200,000 * 62 * 13 1,200
02 2229 2,520 1,800 720
OMYDISHED| Cist EAQ2
70,0002 * 304 » 12€ 2,520
301 YBEAZ 400 400 0
12 JIEI2 A= 400 400 0
OMYIIIEYED| AlD ZAZ
40,0002 * 10¥ 400
405 KHAHE SH) 52,800 20,000 32,800
01 AL EEFSH| 52,800 20,000 32,800
OMYDISHED| S8 0ls4! JHolizt 7Y
4,400,000 * 1204 52,800
HAXH| 22 154,634 203,844 249,210
201 LBt Y| 117,954 145,134 227,180
01 At222IH 1,800 900 900
OYRA 2LA ot 3 2
100,0002! * 9 900
OBYRA 22X == 2l
100,0002 * 9H 900
02 2229 116, 154 144,234 128,080
OFAX E KX 116, 154
—H2C7224(LEHI0], JisE!)
1,5002 = 504 * 12% 954
—05A360(CHEEIE, AEXH, E])
1,380 * 4004 * 12¥ 6,624




S SAYSY
I [HD|ISVSHEZ/HIIS)
Sl MYl Hel (G2 &)
_ _ bSlEl=
2A -3 A2(ZH) - MIRAR - BES O koH 0“1“;0” Hwns2t
—96X006(CHESIE, RE4HRIR, 2B])
1,380 * 2004 * 12& 3,312
—05A3659(E& =2, EAHA, AER)
1,380 * 2004 * 129 3,312
—05A3697 (LHEIE23512, SAISMYIDIEN,
IR) 1,380 = 6004 * 12¥ 9,936
—86218601 (LHRHES3IE, SAISMYID|2N,
as) 1,380 = 6004 * 12% 9,936
—0BAMRA(HEESTIS, SASMYDIENA,
aL) 1,380 * 6004 * 12& 9,936
—9120621(LHESE43t2, SASMYIIENA,
aL) 1,380 * 6004 * 12 9,936
—B264%5(HEE 23512, SAISMYIDIEN,
IR) 1,380 = 6004 * 12¥ 9,936
—87E833B(A 2, IISHAZ, AR)
1,3802 * 2004 * 12& 3,312
—9745082( AEGIE, JISHAR, 2R)
1,380 = 2004 * 129 3,312
—BANTBA3( AL ZRERIE|, SHEH BR)
1,380 * 2004 * 12& 3,312
—NX1UA(EEESF2, RIIMEX, BR)
1,380 * 2004 * 129 3,312
—81R0976( = HE AR, AR)
1,380 * 2004 * 122 3,312
—B4GC226R( - HE AR}, AR)
1,380 = 2004 * 12¥ 3,312
—HAXIZY SAH L ADEY| S
150,0002 * 18CH * 12& 32,400
206 X224l 36,680 42,710 26,030
01 XH2H] 36,680 42,710 6,030
OL-SHEAZ} R2 70 16,400
—E25244(HE) 300,0002 * 2074 6,000
—ALOIEER{4(THE) 150,0002 * 4074 6,000
—EH (|2 E) 300,0002 * 1074 3,000
—QHEFZY0IE(MI|AH)
400,000 * 274 800
—EQUNIRAHIR (HIAH)
100,000 * 2K 200
—QUESA(EIAH) 200,000 * 204 400
OsHAD|5I RAE R 19,380
—PPIZCH 3002 * 10,0000H 3,000
—THE=2MYD| ot 3002 * 10,0000H 3,000
—Z2Z22 0 300 * 20, 00004 6,000
—gix= 5,0008 * 419 * 122 2,460
Y= =1) 5,0008 * 419 * 122 2,460
—4&t 5,0008 * 419 * 122 2,460
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00,0002 * 33 90
MY IRl (ME U SAS) 10,729,266 9,952,154 777,112
101 Q218 66,319 63,133 3,186
04 IR 2R RS 2% 66,319 63,133 3,186
OSASRHIISSTE| M 66,319
—Jl=z 73,2802 * 58 * 1502 54,960
—F=54g 73,2802 * 5% * 252 9,160
—OIRBEIILY 73,2808 * 52 * 6 2,199
201 Yk y| 30,600 33,060 £2,460
02 22294 30,600 28,800 1,800
OZesIeA ®IIR3
5,002 * OMA * 128 5,400
OBARIEZ BRI ALY ABE
20,0002 * 25704 * 128 6,000
OUEHIIZ HBADAAY 2 X2
400,0002 * 128 4,800
OJeld METHDI2 NBE M|Q3
1,000,002 * 122 12,000
OslE 47| DA DR 22 KXz
300,0008 * 204 * 43] 2,400
206 Mz 29,250 27,600 1,650
D] 29,250 27,600 1,650
OZHA L Al 55,0002 * 1505 8,250
OSASRHIIS BA4TEI| 7Y
42,0002 * 50071 21,000
207 AN L] 35,000 45,000 210,000
IEEEET] 35,000 45,000 10,000
OMETHDIS +TSY DS U Z2H 25
TONCHE ROIEAF B 15,000
15,000,008 * 14!
OMSTHDIIZ +T2Y DI It 8
10,000,008 * 14! 10,000
OSASZHIIS 2V 2IIFA B
10,000,008 * 14! 10,000
307 2I2HOI 10,076,016 9,309,448 766,568
05 DIZSIE 10,076,016 9,309,448 766,568
OSASHID| 28 U Hel+ar 1,610,000
—20 20,0002 * 6,000 120,000
—Hel 135,000 * 6,000 810,000
—gte2lma Maldl 170,008 * 4,000 680,000
O2F2IIA Jteis METHIIS H2lt|
110,0002! * 24,000 2,640,000
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A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
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8,300 * 49,960AICH » 123 4,976,016
Ostetrellia Jtels MBEDIS Bl G
850,000,000& * 14l 850,000
308 KXIEHHISOIHE 67,081 63,913 3,168
07 XM RE=S 67,081 63,913 3,168
Ogtesala FUXAII2 A2 P2
67,081,000& » 14 67,081
401 Al&HIZLSOHY| 395,000 370,000 25,000
01 AlZHI 395,000 370,000 25,000
OSUGHRA(MEHIIS HBAHAIE) &
15,000,000& * 1544 225,000
OSAI2BHIIZ ZIDI(RFID) XA
2,000,000& = 70CH 140,000
OJlels MEHIIS N |1 22
30,000,000 » 14l 30,000
405 KHobs SH| 30,000 40,000 210,000
01 TR ESF=HI 30,000 40,000 10,000
OJlels MEHDIS Bilg YEsA XX
15,000,000 * 201 30,000
MADISTHES 22 389,522 365,880 23,642
201 22| 87,522 82,680 4,842
01 AFR2teld] 3,000 3,000 0
OME 2 SASE ZTX 222 HN
4003 * 7,50004 3,000
02 Z=24H| 84,522 79,680 4,842
OSAZRHIIZ ZLIDIFRFID) SHR2
4,002 * 307CH * 122 14,736
OSAIZRHIIZE ZIDIFFID) FIIS3
5,000& * 150042 + 128 9,000
OSAIZRHEIIE Z2IDIRFID) Sz
16,500 * 307CH » 1228 60,786
206 MH=Z4| 238,000 222,000 16,000
01 M=ZHl 238,000 222,000 16,000
OMYDIZTH HBBS RIS 238,000
—MEMD| 2E FIR
12021 * 1,700, 0000H 204,000
—SASRHDIE 2 HE
50& = 600,0000H 30,000
—228 =25 A 12021 * 30,0000 3,600
~SASRHDIZ HES & M
50& * 8,0000H 400
307 gl2+ol& 64,000 61,000 3,000
05 BI”IREZ 64,000 61,000 3,000
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OMADIEEFE BliZA2 64,000
— M| 1,265,000,0002 * 5% 63,250
—SASRHIIS 15,000,0008! * 5% 750
(S WEEELTBAZ N 22,250 22,250 0
3 6,675
Al 15,575
301 LBHFES 22,250 22,250 0
= 6,675
Al 15,575
12 JIErR A 22,250 22,250 0
OMEEE T4 N
22,250,0002! * 14! 22,250
= 6,675
Al 15,575
WEBEATBAENZ 102,500 138,500 36,000
301 LBFES 102,500 138,500 136,000
12 JIEr2 Al 102,500 138,500 36,000
OHXIR +H243 102,500
~HHIe 12021 * 700,000kg 84,000
— ol (Rel) 1502 * 10,000kg 1,500
— oY (BatAE) 8002 * 10,000kg 8,000
—zo=X] 1,002 * 7,200kg 7,200
—HIX| 302 * 30,000kg 90
—Higely 302 * 20,000kg 600
—HZatAe 3021 * 10,000kg 300
(2)SEHHE 21243 200,000 110,000 90,000
2 20,000
= 54,000
Al 126,000
301 LBHRFI 200,000 110,000 90,000
2 20,000
= 54,000
Al 126,000
12 JIEF2 A 200,000 110,000 90,000
OSZHHIL #H2S43 200,000,008 * 14 200,000
2 20,000
= 54,000
Al 126,000
(2)2sToty =5 59,830 50,000 9,830
2 17,949
= 12,564
Al 29,317
401 AIZBIZ 2T 59,830 50,000 9,830
2 17,949
= 12,564
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Al 29,317
ASEEHIIZ Xl 151,080 144,280 6,800
201 LBH23H| 6,080 4,280 1,800
01 At22teld| 6,080 4,280 1,800
Ogxl-2gHDIE 2& =2 M
60,0003 * 19JHA = 23 2,280
OgX-2dEDIE 2& 8288 M
2,000& = 1,0008 * 13 2,000
QOHYISHHEAMIE HERF M= & oHNS)
200,000& = 3¥ 600
OS24 HD IS0 =&Hl Xt
1,200,000& * 14 1,200
307 SI2H0| & 145,000 140,000 5,000
05 BIZIRIEIS 145,000 140,000 5,000
OBAEE fIE XL 280,000& * 500 140,000
OYxI-=8HDIIZ /AEHaIYI
500,000& * 10& 5,000
(D) HsUE) ST SLMEI XA 2,800 0 2,800
T 840
Al 1,960
402 QIZHRHE0| A 2,800 0 2,800
L= 840
Al 1,960
02 QIZEXIE2AISEE R (01X M) 2,800 0 2,800
OHs%Z)IFHFISAMEIIXZAAMS
800,000& = 5CH * 70/100 2,800
& 840
Al 1,960
(2)HESSUIDIEEXIA 150,000 0 150,000
= 75,000
== 22,500
Al 52,500
401 AIEBIZL 2L 150,000 0 150,000
= 75,000
< 22,500
Al 52,500
01 Al&HI 150,000 0 150,000
o= sUlote &x
15,000,000& * 100024 150,000
= 75,000
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OP022\d EA0ISHY ARTHE BIRE 2EX3
70,0008 * 3% 23] 420
OSEABHEI} 22/(22), HOIKI0Ar 230
—Jl= 150,002 * 1% * 13l 150
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OY0ISHA AR AB4 SE 7Y
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OBA0ISHA AR S4l 23
12,0008 * 122 144
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40,0008 * 122 480
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— X5t 100,008 * 41% * 1%} 4,100
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— 5% 50,0002 * 419§ * 1% 2,050
o EY 50,0008 * 419 « 1% 2,080
—JIEHOAT & 250HA 5)
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2 1,303,000
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24T 22 100, 110 85,243 14,867
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O3s3tza RA2 31,072
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201 Yt 67.760 54,560 13,200
01 AFR 22l 16,500 16,900 A400
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SN BRBED
B Q| 2EI(HF/MAE - £7)
2H a3 (Sr9): @)
] _ el =
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
CIEEEET 25,000 20,000 5,000
OZE MEISIE=RAY BAE DLIEY 29
25,000,000 * 141 25,000
(£) 2T AL 320,000 180,000 140,000
= 9,000
Al 224,000
401 A EBIL2TH] 320,000 180,000 140,000
= 9,000
Al 224,000
01 AI&H 320,000 180,000 140,000
OBEST AN A 320,000
~2)IS SEHFAINLAIL
20,000,002 * 14! 120,000
= 36,000
Al 84,000
~HE2E DESITANS AL
100,000,0002 * 14| 100,000
= 30,000
Al 70,000
—OINIS ZESFATNLAIL
100,000,0002 * 14| 100,000
= 30,000
Al 70,000
() MENGHR = RIAR) (S E) (R AY) 2,600,000 2,500,000 100,000
= 1,690,000
Al 910,000
401 NEBIL20Hb| 2,600,000 2,500,000 100,000
= 1,690,000
Al 910,000
A& 2,5%,640 2,491,000 99,640
OMENSHR =R (2HH)
2,600,000,0002 * 141 * 99.64/100 2,590,640
= 1,683,916
Al 906,724
03 Al &= CHY 9,360 9,000 360
OMENSHE =R (BHH)
2,600,000,0002 * 141 * 0.36/100 9,360
= 6,084
A 3,276
DESIEA 018 orAH(LE) AX 12,500 10,000 2,500
401 A EBIL 2] 12,500 10,000 2,500
01 AIZHI 12,500 10,000 2,500
OBZSTA 014 OHAH(LYE) &
2,500,002 * 574 12,500
EFEEEERELE 1,602,900 719,000 883,900
2 1,233,000
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S - - SRS - MRAR - BAS I e a] HI RS2
= 10,970
Al 258,980
403 XIS RIS TH= 0/ 1,602,900 719,000 883,900
3 1,233,000
= 110,970
Al 258,930
02 I 2SN EH S EATSH] 1,602,900 719,000 883,900
OBIEES T2AAIR  1,602,900,0008 * 141 1,602,900
2 1,233,000
= 110,970
Al 258,930
(2)5H&5tR MaD| FatAre 88,000 0 88,000
= 70,000
Al 18,000
101 Q28] 88,000 0 88,000
= 70,000
Al 18,000
BIEIEEIU=IES 88,000 0 88,000
OBHEMIISEH 28 oI
80,0002 * 102 * 1102 88,000
2 70,000
Al 18,000
HY2HAY|(SZE2S ) (IIEHIIE 2,488,098 2,697,104 A209,006
ol 2| 2,325,908 2,539,500 £213,682
ol 2] 2,325,908 2,539,500 £213,682
101 Q18] 2,325,908 2,539,500 £213,682
08 ZRH (N 22 A2~ 2,325,908 2,539,500 ~213,682
OBHOIFY 22AU(1758 IIF) 2,305,908
—Jlea 3,280,5702 * 419 « 122 1,618,469
]
3,280,570% * 75% * 50 * 412 « 23] 101,155
—IIEAY(BSR) 40,0002 * B * 122 17,280
—IIEAYOIE) 20,0008 * 180 + 122 43,200
—YEEIH|
3,280,5702 * 75%  60% * 412 * 23] 121,386
NI
17,9048 » 150% » 5AIZH * 41 » 122 66,066
—sYuDRLy
17,90420 * 150% » 20A12 * 419 « 12 264,264
—RRBENSY
43,2802 * 412 » 152 88,088
—xRag 100,0008 * 584 * 122 6,000
IR 162,190 167,514 4,676
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201 Zer2g 34,930 34, 154 776
01 A2l 3,930 34, 154 776
O=ARX 7 16,0002 * 308tA « 122 5,760
O=s20jAll| 7,0008 * 641 x 30 * 12 15,120
OYstraz 00,0008 * 122 1,200
OARR AT 50,0002 * 122 600
OARR 24| 10,450
—=ADI(CHE) %21 1,000,000 * 1.50H 1,500
—ZRIE 42 00,0002  5CH * 50/100 250
—=ADI £l 200,002 * 53| * 1,504 1,500
~TRIE EU(S%) 200,000 * 53l * 50 5,000
—TRIE () 200,000 * 53l * 1CH 1,000
—PC 22| 10,0002 * 30CH * 20/100 600
—JIEt 22l 50,0002 * 122 600
OJIEH M2l 5,0002 * 302 * 122 1,800
202 01b| 118,800 114,840 3,960
07 =LH0TH] 118,800 114,840 3,960
OzLioit] 20,0008 * 302 * 122 * 122 86,400
o2l 0i| 90,0002 * 302 * 122 32,400
208 2| 7,260 7,320 AB0
04 ENEZLLEAY| 7,260 7,320 B0
ORNSgALEY| 605,0002 * 122 7,260
204 X 24E Y] 1,200 1,200 0
NEEEEEESE 1,200 1,200 0
ORHZARLHAY|(BALE )
100,0002 * 194 « 122 1,200
HRES(2Z 2SI (2Y/HTHHE - +7) 1,721,415 1,509,762 211,653
TESIEE 1,721,215 1,509,762 211,453
VESTEE 1,721,215 1,509,762 211,453
701 JIEEIHSHES 1,168,000 961,600 196,400
01 JIEIBIHEES 1,168,000 91,600 96, 400
LEINHSHEIH HED 1,168,000
—2EHRIAL STH DEAA
600,000 * 38744 22,800
—ZosleHRIAL 2E2E S|
54,000,000 * 6JHX 7 324,000
—ZoHHRIAL HeIF 22laay|
9,000,002 * 3874 342,000
—2oHHRIAL BIF 22la4y|
3,000,000 * 5374 159,000
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S ERTESTEE (=EIE-E)
- _ _ HEAS
S - 3 - R(SH) - MRAY - BAS Ol &k OH 01l AkoH HwE2
—ZTORMOIAE KBYH SUEL aa2
125,000,000& * 14! 125,000
—TTBEHLIAIL Z24X M2l
65,0002 * Q0HA * 128 70,200
—ZTEHEIAIE (FIIH) ST
110,000,000& = 14! 110,000
—TTaHEIAE SRRRH
5,000,002 * 14! 5,000
02 J138EZ 563,215 548,162 15,053
01 JI3NES 563,215 548,162 15,053
OHDISHRIAILEHECINAIIZ HE3 563,215
—XXIEHEAS 400,000,000& 14l 400,000
— S (2020) M IIZEBOI4O] 10/100
1,388,063,000& * 10/100 138,807
—FAE(2020) BIISH2IL4E] 10/100
244,076,000 * 10/100 24,408
I=FSPNES 200 0 200
ISFSPNES 200 0 200
802 gtet=DIEt 200 0 200
03 JIEtEHEIZ S 200 0 200
OBYN HBEE 4+42 =

100,000& = 23| 200






